
INSTRUMENT ACCESSORIES
Mounting Pod Kit with Blank Face Protect your delicate 
instruments with this light weight, fiberglass reinforced pod. 
Includes: white gel-coated pod, satin finish anodized aluminum 
mount, rubber trim, and installation hardware.  Measures  
10-1/2” L x 5-1/2” H. Instruments and wiring not included.
Description Part No. Was NOW

Mounting Pod Kit G4207 $195.00 $169.00
Bullet Case Mounting Pod G4161 $21.35 $14.95
Pod Face Only G4242 $24.75 $17.50

G4161G4207

g4242

HANGAR
SALE

AIRCRAFT ENGINES

independent SERVICE CENTRE

Large Inventory of ROTAX® 
Parts, Maintenance, Overhaul, Repair

LEADING EDGE AIR FOILS LL
C

The Central USA independent SeRvICe CenTRe
onlinecatalog.leadingedgeairfoils.com | 1.800.532.3462

For ROTAX® 912/914 Series Engines. Five levels of internal backlighting, operates on 9.5 - 33 VDC. 2.475” square 
and can be mounted from front or rear of the panel.
Description Part No. Was NOW

Oil Pressure Gauge Can display pressure in PSI or Bar, has settable low and high pressure alarms.
Using Honeywell Pressure Sensor  SAVE $62.45 G2302 $151.95 $89.50
Using VDO Pressure Sensor  SAVE $62.45 G2303 $151.95 $89.50

Oil Temperature Gauge Using factory ROTAX® Oil Temperature Sender.
SAVE $62.45 G2305 $151.95 $89.50

Tachometer & Hour Meter for ROTAX 912/914 Four digit digital display of RPM, total engine hours and 
elapsed time. Programmable high RPM alarm & separate engine hours countdown for maintenance. Also recalls 
maximum RPM.

SAVE $55.00 G2306 $184.50 $129.50

G2306 G2305 G2302

ADI DIGITAL INSTRUMENTS

Prices and supply are subject to change without notice.

963 994
Part No. Description      Was      NOW

210 335 Valve Cover $45.00 $35.00
215 210 Semi Trapez Ring 62.0 Dia. $69.97 $49.97
232 730 Needle Pin 4x15, 8G3 DIN $1.63 $0.99
240 036 Hex Screw M6x25 (582) $0.85 $0.65
240 181 Allen Screw M5X20 $0.48 $0.25
240 480 Plug Screw 1/8 - 27 NPT $5.47 $3.47
240 761 SIotted Head Screw $0.53 $0.43
240 771 Hex Screw M6x10 $0.57 $0.37
241 212 Slotted Head Screw $0.48 $0.30
241 231 Allen Screw M6x16 $1.40 $0.95
241 236 Allen Screw M6x16 $0.66 $0.56
241 261 Allen Screw M6x65 DIN 912 $1.45 $0.99
241 761 Allen Screw M6x50 $0.85 $0.65
241 811 Allen Screw Clamp On $0.53 $0.40
241 841 Allen Screw M5x12 $0.69 $0.48
241 930 Allen Screw M6x20 $0.57 $0.37
241 932 Allen Screw M6X20 $1.16 $0.95
242 206 Hex Nut M8 $0.53 $0.39
250 311 Washer 8.4 $0.41 $0.31
260 470 Crankcase Ring, Polyamid $35.32 $25.50
261 081 Main Jet 220 $8.10 $7.10
261 642 Jet Needle 6G1 $12.95 $9.95
268 758 Starting Jet 85 $9.75 $8.75
268 977 Main Jet 120 $8.10 $7.10
268 978 Main Jet 125 $8.10 $6.00
268 998 Main Jet 138 $8.10 $6.00
280 086 Rope Sheave $56.54 $36.50

Part No. Description      Was      NOW

5721512 Tab Conn Housing, Male $1.85 $0.99
640 171 Hex Screw M5x5 $.85 $.54
640 942 Allen Screw M8x54 DIN 912 $1.84 $1.25
640 951 Collar Hex Screw M8x68 $4.99 $3.50
665 551 Ignition Cable Assembly $32.92 $19.95
665 552 Ignition Cable Assembly $38.22 $23.95
665 554 Ignition Cable Assembly $44.30 $26.95
665 555 Ignition Cable Assembly $34.12 $21.95
665 556 Ignition Cable Assembly $40.88 $24.95
665 557 Ignition Cable Assembly $33.75 $21.95
827 180 Washer 12. 1/18. 5/1. 5 $1.68 $0.99
827 430 Spring Holding Cup $11.91 $8.25
827 961 Washer 6.4 DIN 125 $0.31 $0.21
832 360 Ball Bearing 16002 $41.13 $31.25
838 240 Tension Spring $8.35 $7.70
840 511 Allen Screw M5x16 $0.48 $0.38
840 757 Stud M8x291 $17.14 $12.00
840 880 Allen Screw M6x30 $0.57 $0.37
841 561 Allen Screw M8x45 $0.38 $0.28
842 230 Hex Nut M22x1.5 (377, 447) $12.83 $7.45
842 321 Cap Nut M8 (532) $5.01 $4.00
842 330 Spring Nut M8 $13.36 $8.36
842 610 Hex Nut M8 $4.37 $3.37
845 430 Serrated Washer $9.66 $6.15
847 282 Spacer $14.77 $9.77
847 700 Distance Sleeve 6/10/11 $9.03 $7.03
847 750 Splitted Cone Sleeve $111.29 $69.95

Part No. Description      Was      NOW

848 240 Choke Lever Inside $2.76 $2.11
850 510 O-Ring 4.7x1.4 $4.95 $3.70
854 194 Rocker Arm Shaft $38.88 $27.95
854 861 Valve Push Rod Assy $174.34 $150.00
864 011 Faston Connector 6.3x0.8 $1.23 $0.90
866 300 Faston Connector 6.3x0.8 $2.66 $1.95
866 305 Faston Connector 6.3x0.8 $4.54 $3.50
866 710 Clamp 142x3.2mm $1.26 $0.95
867 610 Intake Flange DC-44 $301.23 $275.00
874 336 Fuel Hose Assy $79.95 $69.95
877 255 Insertion Jig $83.30 $44.50
886 756 Gear Set Type E 4.0 $387.77 $354.95
926 200 Massive Washer 30, C & E Gear $7.31 $5.50
926 273 Washer $10.76 $6.50
927 941 Washer 6.0/12/1 $0.69 $0.55
929 115 Threaded Sleeve M8 $35.09 $19.95
945 750 Lock Washer A5 $0.21 $0.16
945 753 Lock Washer A10 $0.31 $0.24
945 768 Lock Washer 16 $1.40 $0.95
961 292 Fixation Screw $18.50 $13.50
963 130 Mixing Tube $16.90 $12.95
963 146 Idler Jet 65 $23.50 $16.95
963 160 Adjustment Screw $6.95 $5.70
963 176 Float Chamber $98.15 $59.50
963 716 Jet Needle 4E2 $11.50 $9.50
963 717 Jet Needle 2H2 $11.50 $9.50
964 212 Fastening Parts Set $39.53 $19.50

240 791

Needle Jet

Jet Needle

Idler 
Jet

Main Jet

SAVE ON ROTAX® PARTS

LEADING EDGE AIR FOILS LL
C

The Central USA independent SeRvICe CenTRe AIRCRAFT ENGINES

independent SERVICE CENTRE

Large Inventory of ROTAX® Parts, 
Maintenance, Overhaul, Repair

onlinecatalog.leadingedgeairfoils.com 
1.800.532.3462

Prices and supply are subject to change without notice.

886 096

963 994

958 770840 460232 242

838 240

867 610

HANGAR
SALE

Part No. Was NOW

Backlight for 3" Gauges
G2139 $4.00 $.95
Backlight for 2” Gauges
G2142 $7.50 $4.95

BACK LIGHTS
Description Part No. Was NOW

2” Round EGTs (Gauge Only)
Range: 100-700°, Imported G2175F $46.50 $41.50
Range: 100-700°, Made in USA G2175 $64.15 $54.15
Range: 700°-1700°F, Made in USA G2180 $63.40 $71.50

G2175F G2175 G2180

Description Part No. Was NOW

2-1/4” Square Dual CHT/EGT (Gauge Only)
CHT Range: 100°-700°F, EGT Range: 
700°-1700°F, Made in USA G2275 $125.60 $115.60

Tachometer/Hour Meter Combination for 2 Cycle
0-8000/hrs. (DC powered) G3066 $212.25 $197.50
Fuel Level Sender̀
5-Volt solid state capacitance sender, with no moving parts. Easily adapted to 
many different tanks and installations. Sender is bendable, easily cut and easy 
to install. Calibration takes just seconds. Works on plastic, metal or fiberglass 
tanks. 12 to 24 Volts DC. The minimum a 24” sender can be cut back is 12”.
24” Straight, Made in USA G4052 $174.75 $129.75

G2275 G3066 G4052

Face Screw for Square 
Gauges Part No. G2137 

 Was $.21 NOW $.18

While Supplies Last!

Description Part No. Was NOW

3-1/8” Square 0-55,000 Altimeter G4306US $168.50 $157.50
2-1/4” Vertical Speed 0-2000’ G5107US $289.95 $269.50
2-1/4” Tachometer, Analog Ducati G7100 $167.95 $154.50
3-1/8” 0-80 MPH Airspeed w/Pitot Kit G8105US $197.50 $187.50
3-1/8” 0-100 MPH Airspeed w/Pitot Kit G8110US $197.50 $187.50
3-1/8” 0-140 MPH Airspeed w/Pitot Kit G8112US $218.00 $208.00
2-1/4” 20-100 MPH Airspeed w/Pitot Kit G8135US $210.00 $204.50
2-1/4” 912/914 Tachometer/Hour Meter G8501 $187.95 $176.95

UMA INSTRUMENTS

G5107US G7100 G8112US

G4306US G8105US

G8135USG8110US

EGT GAUGES
G8501

Description Part No. Was NOW

Gear Lube SAE 80W-90
Quart H4153 $11.65 $10.45
Case of 12 H4153-1 $138.05 $118.90

Engine Fogging Oil
12 oz. can H4154 $9.15 $7.50

HP Marine Oil  While Supply Lasts!
Quart H4155 $10.55 $7.50

Description Part No. Was NOW

Interceptor 2-Cycle
Quart H4156 $11.70 $10.50
Case of 12 H4156-1 $138.70 $122.70

Saber Professional 100:1
Quart H4157 $13.05 $12.00
Case of 12 H4157-1 $155.30 $137.00

10W-40 Synthetic Oil
Quart H4152 $13.10 $11.70
Case of 12 H4152-1 $155.70 $133.80

It’s
Back!



Oil Injection Starter Kit for Rotax 503  
with Pull Start

Now you can retain your oil 
injection system and have 
an electric starter! You can 
retain your pull start as 
well. Easy to install.
Part No. Was NOW

R5190 $52.85 $47.85

HANGAR
SALE

RAM MOUNTING SySTEM COMPONENTS
RAM Mounts® are made to withstand up to 50 Gs of force and the frequent vibrations found in the air without sacrificing visibility 
and access. The innovative ball-and-socket design utilizes a patented rubber-coated ball providing superior hold and vibration 
reduction. Designed to be impact resistant and adapt to any situation, RAM Mounts are made in the U.S.A. and most products are 
backed with a lifetime warranty. Components use standard 1/4” NPT threads. The flex arms are made of spring steel with a PVC 
covering and are bendable. At the top, use a single ball, a single socket or a double ball depending on application. Easy to install, 
mount and position handhelds. Units allow you to reposition or remove your electronics for safe keeping.

Part No. Was NOW

RAM-B-200-1. Single Socket for 1” ball, w/ 1/4” NPT end
SAVE $2.00 T3054 $16.00 $14.00

RAM-PF585-6. 6” Flex Arm with 1/4” NPT ends
SAVE $5.00 T3057 $18.30 $13.30

RAM-B-202A. Base only with ball and 1/4”-20 stainless steel stud to be used 
for holding cameras and photographic equipment. Position your camera at a 
perfect viewing angle and leave your hands free. Use with double socket arm 
and base (choose from standard base, yoke and rail mount, or u-bolt mount) to 
complete camera mount system. 

SAVE $2.00 T3032 $9.85 $6.85
RAM-B-224. 4" diameter rubber suction cup with ball. Holds a GPS, cellular 
phone, NAV/COM radio or most handhelds on glass or non-porous flat surface. 
Constructed of true EPDM rubber.

SAVE $15.21 T3034 $21.16 $5.95
RAM-HOL-PD1. Universal PDA holder fits many PDAs. Width is 3-3/8" and 
height adjusts from 4-3/8" to 6-1/2". Adjustment mechanism is spring loaded to 
ensure a tight fit. Plastic holder can be easily modified, requires Part No. T3072 
adapter to convert to ball system.

SAVE $8.80 T3078 $13.75 $4.95
RAM-224-1. 3-1/4” diameter suction cup with twist lock. Needs diamond 
mount Part No. T3072 to convert to the ball system.

SAVE $3.25 T3080 $10.50 $7.25
RAM B-138-GA5U. Garmin eTrex series GPS holder.

SAVE $3.43 T3084 $11.93 $8.50

T3032

T3078

T3038

DECALS & PLACARDS
Description Part No. Was NOW

“To Be Used for Instruction Use Only” - 1”H x 13-1/4”W

Black Letters B4024 $1.50 $.75

White Letters B4025 $1.50 $.75
Instructors Endorsement Pack Contains 13 sheets of labels. 
Each sheet has ten 2” x 4” copies of a specific endorsement. 
Each endorsement label is identified by title and FAR number 
and has the exact wording as required by regulations, and has 
data-prompted blanks for the students’ name, CFI certificate 
number etc.

B4225 $16.70 $12.70
Light Sport Decal White letters on clear background.

B4222-2 $2.10 $1.50
Instrument Marking Decal 1” x 4-1/2” black/silver. 

Sheet of 10 B4006 $7.50 $5.50 LAMP, FUSE
Green Indicator Lamp
With wire leads for easy installation. Mounts 
into 1/2” hole, 12 VDC.
Description Part No. Was NOW

Green M1171G $3.70 $2.50
1/4 Amp Fuse

G2140 $.69 $.59

Oetiker Pincer HIP 1000 I 396
Single Action Pincers are economical and effective. Closing 
force is highly repeatable with a consistent ratio of hand force 
to jaw tip force.
Description Part No. Was NOW

N5211 $29.95 $26.95

ROTAX FAN GEAR
Men’s Rotax Team Polo Shirt
This quality black polo shirt has a ribbed collar and cuffs, 
3-button label with fishbone tape and Rotax embroidery on 
the front. 70% cotton, 30% polyester. Sizes run small.
Description Part No. Was NOW

2XL 583 044 $68.97 $29.50
3XL 583 045 $68.97 $29.50
Men’s Arrow T-Shirt
Features Rotax’s “The Power To Excite” logo. Charcoal gray, 
100% Cotton. Sizes run small.
2XL 583 004 $45.00 $19.95
3XL 583 005 $45.00 $19.95

Stainless Steel Cable  
SOLD PER FOOT  
1/8” SS 7X 7, Black Coat  
Part No. M1090 

WAS $.45 NOW $.36

C8 Standard Engine 
Control Cable  
by UFlex  
Part No. H9100 
 Was $37.00 NOW $29.95

Single  
Throttle/Oil  
Injection  
Splitter  
Cable for Rotax 503
Part No. H7342 

WAS $13.60 NOW $11.60

LED LIGHTING
Navigation Strobe by Kuntzleman
Synchronized with seven (7) selectable flash patterns. Using a common 
controller to power the strobes and furnish the heads with a junction point for 
synchronizing and selecting one of the 7 flash patterns of the LED STROBES. 
It also allows a separate power source to the navigation red, green & white 
LED’s in the Position light part of the heads. Includes 2 wing tip heads, 1 left 
& 1 right, adapter plates for mounting to a radius, 50 feet of 3 conductor wire, 
plugs, pins, 1 controller, misc. wire connectors and mounting hardware.
Description Part No. Was NOW

LED-SL G8319 $315.00 $299.50

EZ Drain Valve Allows for easy draining of 
the cooling system. SAVE $7.00
Desciption Part No. Was NOW

22mm X 1.5 
threads R5497 $12.95 $5.95

7/8” (22.23mm) Oil Tank Cap ID Hole Size: 
0.850” (21.59mm) to 0.935” (23.75mm)
Max Air Pressure: Up to 10 PSI
Brass handle with zinc-plated steel body
Neoprene Rubber

Z5246 $7.95 $.99

R5497

WHEELS & TUBE
Description Part No. Was NOW

4” Azusalite Wheel - Nylon Zytel, Hub Only
J1205 $14.70 $11.95

5” Azusalite Wheel - Nylon Zytel, Hub Only
J1225 $21.60 $18.50

6” Azusalite Wheel - Nylon Zytel, Hub Only
J1255 $28.75 $24.75

20” x 2.175” Tube for TUFF Wheels, Regular
J1130 $6.75 $4.75

20” x 2.175” Thornproof Tube
J1135 $13.00 $9.95

PROPELLERS
Description Part No. Was NOW

IVO Prop Standard Hub Cam
SAVE $5.50 P1445 $6.50 ea. $1.00
Cam Screws For IVO Propeller
SAVE 20¢ P1448 $.25 ea. $.05
6” Clear Polyurethane Protective Scotch Brand Prop Tape
This clear, 8 mil tape is designed to protect leading edges of 
wings as well as struts, stabilizers and gear legs from airborne 
particles. Less than 2 hours to apply and no special tools. 
Apply to a clean, smooth surface considered permanent.
SOLD BY THE FOOT P1012 $5.25 $4.75
Ultra-Prop, Pitch Block 10 Degrees, pr.
Molded, high strength, glass-reinforced composite. Grooved 
faces provide precision alignment with blade base
Two Blocks per Blade P2160 $8.30 $6.00
Ultra-Prop Propeller AN Hardware
Includes 2 each blade mounting bolts AN4-26A bolt( 2-3/4” 
long), AN960-416 washers and AN365-428 lock nuts. 2 sets 
required per blade. AN4-24A (2-1/2” long) bolts for 5 and 
6-blade props.

P2130 $2.30 $1.15

AN HARDWARE
Description Shank 

Length Grip Length Part No. Was NOW

Bolt, 
Undrilled 2-7/32" 1-9/16" AN7-21A $1.99 $.15

Clevis Pins - These pins are made of cadmium plated 
(QQ-P-416A Type II Class 3) alloy steel meets MIL Spec 
MIL-P-5673. Used with clevis forks and in secondary 
controls which are not continuous operation

Diameter Length AN P/N Part No. NOW

3/16" 9/32" AN393-09 AN39309 $.15

3/16" 27/32" AN393-27 AN39327 $.25

3/16" 1-23/32" AN393-55 AN39355 $.10

C1/4” NPT  
Fuel Hose Adapter  
Part No. H7303 

 Was $2.00  
NOW $1.00

G2140M1171G
J1130 J1135

J1205 J1225 J1255

G8319

TO BE USED FOR INSTRUCTION ONLY

T3078

T3084

T3080

T3034

B4024

B4222-2

B4006
B4225

T3054

ENGINE INFORMATION SySTEM
Altimeter/Vertical Speed Option
Allows the Model 2000 Standard 2-Stroke EIS to provide altimeter - 10’ 
resolution updated 2 times per second, vertical Speed - 100 fpm resolution - 
updates every 6 seconds, altimeter is unaffected by vibration and is adjustable 
to match your field elevation. 
Description Part No. Was NOW

Power Converter Module G8155 $61.85 $55.00
16’ CHT Extension Lead G8157 $21.60 $19.00
16” EGT Extension Lead G8159 $21.60 $19.00
EIS Outside Air Temperature Sensor G8154-2 $27.00 $24.00
8’ CHT Extension Red/White Lead G8156 $10.80 $9.00
8’ EGT Extension Red/Yellow Lead G8158 $10.80 $9.00

G8155 G8154-2

LITHIUM BATTERy
AeroVoltz 16 Cell Lithium Battery
Completely “dry” technology so batteries 
can be mounted in any direction. Three 
year warranty. Non-toxic, recyclable, can 
be shipped by air. 28 AMP/Hour 500 Cold 
Cranking Amps (CCA). Operating environment 
of -22° Fahrenheit to 140° Fahrenheit.

Part No. Was NOW

M1317 $288.00 $268.00

CarbMate Accessories
Description Part No. Was NOW

Black Nylon Storage Case
N5208 $34.25 $24.50

Rubber Holster, Black
N5209 $8.10 $6.00

6-Foot Replacement Rubber Hose
N5210 $15.80 $12.80

TOOLS

G8158G8156

AIRCRAFT TIE DOWN KIT
Description Part No. Was NOW

Tie kit contains three steel-plated corkscrews and three 10-
foot lengths of rope. Unaffected by water, gas, oil or grease! 
Comes with plastic caps to protect both person and machine 
from sharp anchor tips. Green canvas bag included.

P1200 $23.95 $16.95

NavPad for Handheld Device
The base is secured to your 
leg by a simple Velcro strap. 
You could also attach a 
small clip board and have a 
hands-free chart holder.

Part No. Was NOW

B1241 $19.95 $14.95

Z5246


